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| SECOND YEAR HIGHER SECONDARY SECOND TERMINAL
EVALUATION, DECEMBER 2019
‘ Part 111
; ACCOUNTANCY WITH ANALYSIS OF FINANCIAL STATEMENTS

Maximum : 80 Scores

Time : 2%z Hours
Cool-off Time : 15 Minutes

( General Instructions to Candidates : x
* There is a ‘Cool off time’of 1 5 minutes in addition to the writing time of 2'2 hrs.

» You are not allowed to write your answers nor to discuss anything with others during
the ‘cool off time'.

* Read questions carefully before answering.
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» Calculations, figures and graphs should be shown in the answer sheet itself.

S

« Malayalam version of the questions is also provided.

-

* Give equations wherever necessary.

« Electronic devices except non programmable calculators are not allowed in the

Examination Hall.
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PART — A
ACCOUNTANCY (40 Score)

Score

L. Answer all questions from 1 to 5. Each
carries 1 score. (5x1=5)

1. When revaluation expenses are paid

by the partner on behalf of the firm the
account which is debited is

a) Revaluation A/c
b) Partners Capital A/c
c) Bank A/c
d) Cash A/c

2. Sometime the value of goodwill is not
given at the time of admission of a new
partner. In such situation it has to be

inferred from the arrangement of capital

and profit sharing ratlo This concept is
called

a) Premium for goodwill
b) Average of goodwill
c) Hidden goodwill

d) Purchased goodwill

3. Increase in value of assets of firm at the

time of admission results into
a). Gain to existing partners
b) Loss to existing partners
c) Gain to the new partners

d) Loss to the new partners

QT
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4. In the event of death of a partner, the_

-amount of general reserve is transferred

- to partners capital account in
a) new ratio
b) old ratio
c) capita]‘ratio

d) gaining ratio

5. Retiring or outgoing partner :

a) Is liable for firm’s liabilities incurred

after his retirement.

b) Is not liable for any liabilities of the

firm.

c) Is liable for obligations incurred

before his retirement.

d) Is liable for obligations incurred

before and after his retirement.

Score

4. ey al® 08166 mEemo Mo afld)e:.
- @oeemelad, ealom) ae,rogmm% @) ale:0g]

SAIOS MBIWM  @OBHVENFICLISS ORI
@RMalomo

a) ayelle @mieldmo ‘

b) v @memyaiomo

. ..C) DBIM @RMAIIMO

d) emg @omyatomo

5. afledleeym eg@ld ealgold

BalIBYMM ale:08lds)

a) afloo].o] CUeanzyeEOBYM qUoOaKNETeX]

L EIIDUI@ERDBSE oW JTOmos S

b) afledlemnmaim) aydalo ewatalo
088 60 smowémce;tﬁsce@go
enIoW INMgY

¢) aflealeamaim’ aym! penzodoym
ENIOW JEWBH6) ENUIOW JruamMmI6

d) aledleeymaeiod’ mmyo ewauaye
NS 610w ) OB

eNIOW JaNOMoeM.

II. Answer any 4 questions from 6 to 10. IL. 6 qmad 10 aien 'ng;a@aﬂel;o 4 ea13m)

Each carries 2 scores. ‘ (4%2=8) PP gmmo mﬂﬁ&* 2 aapod .

(4%2=8)

6. Rajesh", Jithesh and Prince are partners 6. ooemas, glemad, WMDY agamiad 4:3:2

sharing profits in the ratio 4:3:2. Rajesh ~ EeMomemed 1080 almlsym almog]
ey BHRIEM. 0CRaH afledl.ajeqodd 5:3 agem
retires ; Jithesh and Prince decided to @mialomemld @20N@ Boso alml |
share future profits in the ratio of 5:3. | =~ S9® #le@axpo (aNdmyo @oymoml.gy.
_ - eMmg @myalomo (ammﬂm’lm GOGn&dJO)
Calculate the Gaining Ratio. BEMBOOHN>.
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7. Reshmi, Mariya and Sonia are partners 7. 3:2:1 agym @emyaio@@rilad e10@0 alglsym
y . od o
sharing profits in the ratio of 3:2:1. at@oglegosm ey, adlw, smoerio i
) @ quodaimarsflad aflomyo allodleanemioid 1
Mariya retires and goodwill of the firm mywalgledd ageie 90,000 ogi@oe. :
is valued at Rs. 90,000. Reshmi and soaafl@ 3:2 agym @emyalomeriad eoe ‘
. el ‘

Sonia decided to share future in the ratio M evRch it aoo b IWI50qu &

_ : olomomlay. myusalgyeod micweals
of 3:2. Pass necessary journal entries ODALBOW aREMAD agyBIElB ag)ATIS.
relating to goodwill.

8. During the year 2007 a club received 8. 2007 momiemle aidaemcd aoy
Rs. 1,00,000 as entrance fees, According @iﬁ“j"ﬁ@-'@mm adirvod 1,00,000 gl
- @lanymy. gmlle menvendlow’
to accounting policy of the club 40% of SIEIENT: & @1 5
Gatoglmi] @rmymdLaatenicem adimiexd 40%
the entrance fees is to be capita]ised. ageiwmaIBeodlensmo. genls aidlesmm
How will you deal with entrance fees ldeoom adlmy’ @esnadlstdld agemam
received by the club? . 965000 O.2Igo ?
9. Write any two difference between - 9. smg @M. ®HPN @oMald®malio
‘ i ®anfle) Om®E:|allo 6By U@ o
gaining ratio and sacrificing ratio. 528 o9 o i
. gy} bs.
10. Gokul and Gopika are partners in a firm 10. 3:2 agmarmiom i B ero@jo eggao
sharing profit and loss in the ratio of IBISYM alB0g 806 enosene emoal
3:2. They admit Sreya into partnership. @jo. 50,000 @1 ayerwmayo GTTIVLY )
Sreya brings 50,000 as her capital and Aol almaswl mdeoo agm
Ujalnoalcd eead erywaw als0sl o
the requested amount of goodwill in MO0 alM A e el b6y’ (aleuwlaflenymm;.
cash. The total goodwill of the firm is uadaImaEilod aoads: nwald 24,000 .
_ e @3al@O6M’. an@l® eioE Mol alwsls@d g
24,000. The new profit sharing ratio is @mlom0 3:2:1 ToeamEld: oyegnss
3:2:1. Give necessary journal entries for DSalISIB DA @R IIw t:sesm@ £
the above transactions. ' ag)RENLD Sen)en, A
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IT1. Answer any 3 questions from 11 to 14,

Each carries 3 scores. (3x3=9)

11. Explain goodwill. Name any two factors

affecting goodwill.

12. Hari and Ali are partners in a firm
sharing profit and loss in the ratio of
3:2. They admit John into partnership
for 20% share in future profit. Calculate
the new ratio and sacrificing ratio of
Hari and Ali.

13. The average profit earned by a firm
for the past few years is Rs. 3,00,000.
Normal rate of return in the class of
business is 15%. Find out goodwill
according to Capitalisation of Super
profit, if the value of net assets amounted
to Rs. 16,00,000.

14. Ajith and Hari are partners sharing
‘proﬁts‘and losses equally. They admit

- Prakash into partnership and the new

) .ratio is fixed as 4:3:2. Prakash is unable

‘ to bring anything for goodwill but
brings Rs. 25,000 as capital. Goodwill

of the firm is valued at Rs. 18,000. Give

the necessary journal entries assuming

that the partners do not want goodwill

to appear in the Balance Sheet.

II1.

11.

§ 122

13,

14.

] Score
11 oymad 14 cuonw)gg agomeleljo aom’
82193 )EIBRBE) HEMDO ag) P},
3 aapod aflmo. (3x3=9)

ag)omosm ryialad ? e unoaImElocd
umaaflglem entoulenym ogemsslele
Q6N RISHEMEOS Cl® ag)P)Bds.

3:2 agyom @payasomesiiad 2o Madalo
alElsIm andlwye @eellw)o alw:sle:g0em.
eoallwleal eeamilad 20% m@ds:00 agym
90a[ld emoemlom almogmmleelss’
Jeuwtlaflenymy. andlwyosw)o: @oel
@OSWY0 @il ANBMY @MeIo®mA0
@000 @RMIAIIDUL0 HEMBHIBE B>,

| 630} (09 IMo E-¥16m1® 302 ] IdaYEBEID]
@0l 3,00,000 01 El0go smsyamy;.
gdm ®eo elqilmEUBAINs qIWOLEM

- aummom afleesy’ 15% @oem. ang @omf
a1es mleljo '16,00,000 @aiwoanemaslad
@oule: eEETOM a3ewmalmennem
MMIBIW (ald000 togaﬂoﬂm% 66BN .

219800 MaHQ o @MW a el ale:os]
B06M @Klamio andl@io @D (00t
M alB:8lom quodalmeiiealss) lieauvd
aflenismio a el @memyaiomo 4:3:2 @l
mloalenewio e.o1gymm. cog,nu”n.ﬂaﬁ
DM@ (IL00ElY BaMYo OB
elomiegmiege 25,000 oyt ayeiwm
@00fl ©BI6N8} ARIMM). MNdaImaTlan
oywalgflod ageyo 18,000 myaiwoen.
al@0glmd entoaidmy adidlad ryaalley
& 06Me00M ®moMatejoajsymiel

@DOUCOIDOW) GEDEMED ag)rfb(élm BB},

B AT A TAIR (53 B PR L
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IV. Answer any two questions from 15 to 17. | IV- 15 o 17 cuonw)gg ngomeleloe 2 00108} .
BB HEMR0 ag)P)O)d. 5 aapod alflae. :

Each carries 5 scores, (5%2=10) (5><2=10j
15 a) H o : 15. a) encegjuligpem (udmtenm e
a) owdoyoun'eatsubscnptl.onSfecelved mooainmBln aidl) Admonldes
by a not for profit organisation ? | Tlemcd @raavenElsuElad agemem aldl
\ b) Receipt and Payment Account of weilenio ?

Netaji Sports Club showed that
Rs. 68,500 were received by way
of subscriptions for the year ended
on March 31, 2019. The additional
information was as under :
1) Subscription Outstanding as on
March 31, 2018 were Rs. 6,500.
2) Subscription received in advance
as on March 31, 2018 were
Rs. 4,100.
3) Subscription Outstanding as on
March 31, 2019 were R, 5,400.
4) Subscription received in advance
as on March 31, 2019 were
Rs. 2,500.
Show how the above information
would appear in the final accounts of
Netaji Sports Club for the year ended
on March 31, 2019.

16. Asha and Boby are partners sharing

profit in the ratio of 5:3 with capital of
Rs. 80,000 and Rs. 70,000 respectively.
They admit a new partner Nitin. The new
profit sharing ratio of Asha, Boby and
Nitin is 5:3:2 respectively. Nitin brings
Rs. 40,000 as capital. The profit on
revaluation of assets and reassessment
of liabilities is Rs. 6,400. It is agreed
that capitals of the partner’s should be
in the new profit sharing ratio. Calculate
new capital of each partner and pass the
necessary journal entries assuming that
Asha and Boby brought in or withdrew
the necessary cash as the case may be
for making their capitals in proportion
to their profit sharing ratio.

b) 2019 mok.) 317 @ealavome (oM
ofles dadomfldd 68,500 @t adl
o6y eldlojmowll emmozdl migatodsm
@;mﬂacﬁ o0milog” @M cn_ls)mm:(ﬁ%'
@OBHEY VNS 061 86NN, CLIBlTI6L QUM
MUTWO]s @oule: alliEaBuwd MOy
N@BBYMY. | :

1) 2018 a0d.] 3 1ea eydyfkeoow aid
| aoey 6,500 @y,
2) 2018 moda)3 el aydeyoow eidlay
aldlrvosry 4,100 mpal.
3) 2019 2034f 31ea eydlyfleswom
audlovoeny 5,400 wpa. |
4) 2019 aoda)31ee aydeyood eidla)
adlovosuy 2,500 @jar.
em®Igl emodsm’ genNe@ 2019
@odaf 3 1o mecumonla) cidauasieel
Qdase: semaneadd medenas allaie
EBUD ag)6TREM CREUOQSIET0 ?

16. 5:3 ogyem @OMIIODOEBIA RI0B0 alss]

S al@0Elle800 @Raugle eamuoemleno -
wwowmao 80,000 o1 70,000 M3l

“mgaiwm afloslalda pers. @ocud ailalem a il

@ a0dlwonl (lealudle losyseo 5:3:2
ag)M @M IO eneMayemtd allmo
Qlgom afloaorilene:wio e-21Qpamy. afleflad
40,000 mal YEILMROWS eB:0eM IR,
@DMRIE:810 0w | MBRI0 amdayel idenwo
6.21@ea 0 6,400 @y o emdl. apefio
BIdeMaY @omMiadmeiien @olcunomeria
mmmmﬂgﬂ@@mgoagmwmomam&.
@ Mloal200 @amasym S} ®
SJOUMB HOIBHO aleMo HB:06MRYAIGMD
alldaiefleald (@ e:dea)e. D) o &)
aflcudl.ojdleamaugy @DUUINW egRdemid
)RS 6O ST,
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: ‘17'_ Anu, Binu and C‘inu_ are partners in a 17. 3:2:1agom @papassmadiad ene Mayeracd

' firm sharing profit and loss in the ratio
of 3:2:1. On 31* March 2019 Cinu’s
capital account shows a credit balance
Rs. 20,000. On the same date he died.
Under the terms of the partnership
deed, the executors of a deceased

partner were entitled to :

a) Amount standing to the credit of

the Partner’s Capital account. -

b) Interest on capital at 5% per

annum.

c¢) Share of goodwill on the basis of -

twice the average of the past three
years’ profit and Y
.d) Share of profit from the clbsing date_:

of the last financial year to the date

_ of death on the basis of last 3 yéar_”s_

average profit.

Profits for the year ending on March
31, 2017, March 31, 2018 and Ma:ch
31, 2019 were Rs. 20,000, Rs. 16,000
and Rs. 18,000 respectively. Calqulate

the amount due to Cinu’s executors. -

ABS}m amogdgoem’ @omy, enflmy;

mSImg. 2019 @od.2] 3 1ad mfloyadlexid ageiom

@oeovens 20,000 ol o@ig dfledol
}6]% maﬁm&m& @pem Ao @R
DOEMEQ SIS0 alBIFET B:x00SlexG @es]
muoomarlad aleogl@ies mlwaeleaow

@ UBOB&BH6 DM alOWIMAURL

.mﬁmmco)g,ggm&moagm&

a) aBoslayes mggwm'mmme@g
Aoy . |

b) 5% Quodaies ayeiwm aleflvs

1 C) @Ylemm @M O wo30d]

. eneomlad oeg) @edlmuoomaossiees
wasallgflen afladlmo.:
d) e momieHs Qb emladd
Ao o pO® a0em e
; ma&o@ggé eroeaiadieo (exfem oy
| fué%nﬂsﬁé@ém oo mofbnsﬁloe:moramvﬂ
6x} @osimunomaniiad)
@xflerom aymy daxetgingl enso
2017 modd]31-20,000 @at
2018 @od2y31-16,000 gy -

2019 @oda) 31 — 18,000 ey

A0 (D0 I0MOW ERNIE BB
BIBSENB WYB> BEMNAEIBENBs.

e i
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V. Answer any 1 question from 18 and 19.
Question carries 8 scores. (1x8=8)

18. The following is the Balance Sheet of

Anil and Sunil sharing profit and losses
in the ratio of 2:1.

-

Score

V. 18 qymad 19 leew)es agemesileno 1 6.019a3)
O3 9o ag)eimyes. 8 aopod, (1x8=8)
18. 2:1 agyrm momyatomomd BI0BCLo Mg yo
al@ls;m @ooflad, avyafled ag)milcumies
ETLUORIDNY el moee madeeymy,

Liabilities Amount Assets" Amount

(Rs.) ' (Rs.)

Sundry Creditors 20,000 Cash ' 10,000

Reserve Fund 30,000 Bank 14,000

Capital Accounts : . Debtors 60,000

| ~Anil 50,000 | Stock 6,000
Sunil 40,000 Furniture 20,000

Buildings . 130,000

1,40,000 1,40,000

They agreed to admit Sunita into
partnership on the following terms:

1) Sunita to pay Rs. 9,000 as Goodwill.

i1) Sunita bring Rs. 20,000 as her Capital
for 1/4 share of profit in the business.

1ii) Buildin'g and furniture to be depreciated
at 5%.

iv) Stock is reduced by Rs. 1,600 and

v) Bad Debt Reserve Rs. 1,300 to be
provided for debtors.-

Prepare necessary Ledger Accounts
and Balance Sheet after admission of
Sunita. '

flajoaym ‘aflemumeaies @edaunom
oslad cyfmew 08l wod (asequwd]
afleaomy,
1) osadgpe 9,000 et mudio mdesmo,
i) 1/4 encomimow) auyrile 20,000 @ga
QRaIWMo Madssemo. _
iii) ewglsayo nnéerfﬂ_yogo 5% eogemo.
iv) equossiod aelio ayat 1,600 SYOGTITEY,
V) #gensaimon 1,300 Ml
QUSQloyomemo.

Mile@es Isrmmaymow] Mg
elERd mBvemEGaI0 (eammeas
GURAY2YES TuOONIMETHIeN ensoeiay adigo
BQOOIBEYBs.. b
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19. Priya, Reena and Geeta are partners 19. wiw, dm, Ao agmiaud ewdeae 5:3:2
sharing profits and losses in the ratio of ag)m meMaldmET@ 280 MaYaljo

5:3:2 respectively. On March 31, 2017, el asmoglegoen aod.af 31 2017 of
their Balance Sheet was as under : @RS snuoeiay axficy gDiae:00m06m.
Amount Amount
Liabilities Assets |
(Rs.) (Rs.)
Creditors 95,000 |Buildings 1,00,000
Reserve Fund 30,000 |Patents 30,000
Capital Accounts : Machinery 1,50,000
Priya 1,50,000 |Stock 50,000
Reena 1,25,000 |Debtors 40,000
Geeta 75,000 |Cash 1,05,000
4,75,000 4,75,000
Geeta retires on the above date. It was oy atosmm alodiaid vl
agreed that : llodleeymy,

a) Machinery be valued at Rs. 1,40,000;
Patents at Rs. 40,000 and Buildings at
Rs. 1,25,000.

b) Provision for doubtful debts was to be
made 5% on debtors. |

c) Afterretirement the remaining partners
share profit and loss in the ratio 5:3.

d) Goodwill is valued at Rs. 30,000.
Prepare the Revaluation Account and

Balance Sheet after retirement of
Geeta.

a) ERmled amd agelio 6.01Qealowd eaas
o 1,40,000 o, ecatgenins 40,000
- mat, oegsemsad 1,25,000 qyal.

b) &lgomeeseriiog 5% e eaeneme.

) afled.g) aUatio 3uaflenmm als:oglendd

5:3 agyrm @pmiasomaial eloeago Magao
alsalsimy.

d) oyusaleledd agere 30,000 aoswosns

Ao afledl.aloim) saumes amdayely
rldem@(Olauoapealadad) @esnVER)0

enuoaladmy adfiglo @XQI0ILOSs.
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I. Answer all questions from 1 to 5. Each

PART - B

~ ANALYSIS OF FINANCIAL STATEMENTS (40 Score)

- Score

carries 1 score. (5x1=5)

1. As per Section 78 of the Companies
Act, amount collected as premium on .
securities cannot be utilised for.

a) Issuing fully paid bonus shares tolthe
members

b) Purchase of fixed assets
c) Writing off preliminary expenses

d) Buy back of its own shares

2. Which of the following is false with 2

respect to debentures ? |
a) They can be issued for cash

b) They can be issued for con51deratton
other than cash

c) They can be issued as collateral
security i ' ;

d) They can berissu'ed in lieu of
-dividends

3. In the case of financial statement of a 3.

company the term current asset doesn’t

cover
a) Deferred tax assets
b) Inventories

¢) Trade receivables

d) Cash and cash equivalents

L 1 qovad 5 cuenwies ag)gp 6.010R3)BWSN0.
DOm0 ag)Rimye:. 1 sapod alleo.

1. @l oo asse] 78 @emymdlal
ama dglegldd mlomgo Ln_flm’lcmmomﬂ
- GUOEURIBNM @ O alO@IMM oR®
‘ 800 |EIBREO) HIC@OUsleed B:Flailg).
 a) @oweBBes aljdemao®ye alemas

b)) mudie eomiledd mosmra% '
€) (ond)d ©alelQ}ed ng)tygm’l

SSa|(@aBg)now] miaweaqls ool
U gJowymauaicd emg agosm ?

'b) aleem@e (qJ(lSﬂn.DEI(OTG)']mo@]

¢) alldaym aud Eld@&ﬁ%f@&&"fi‘;:jj;{

(5x1=5)

2188 EenIeMIY HaBWOE:0d aflmeemo
eigpmailay.

emamMaiiony
d) Mo eauE:d dides: Qi
a) @ocU alemanfimy n_lgos)gjs&ﬂﬂcﬂﬁ)g,o

aloeqjsiafleno
c)

-oRMich agyes @fﬂm@g&ﬂm _
a) oAsesflonia) qﬂoe%mﬂwm *..,:‘ bl

d) atemayo n_tmmmtﬂmg mg,et‘\mommm)&o
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4. Which among the following is not an
objective of the Financial Statement ?

a) To provide information about the
| earning capacity of the business
b) To judge effectiveness of
; management

¢) To make Manipulation or Window
Dressing

i d) Disclosing accounting policies

S. The financial tool in which each item is
stated as a percentage of the aggregate
is
a) Common size statements
b) Comparative statements
c) Trend statements

d) Cash flow statements

II. Answer any 4 questions from 6 to 10.
Each carries 2 scores. (4%2=8)

6. Write any two method of redemption of
debentures.

7. List out any two objectives of Analysis
of financial statement.

8. Write any two items that will appear
under the head shareholders fund in
Balance Sheet of companies as per

Schedule III.

9. Narrate any two nature of financial
statements.

10. Financial statements are the. bgsic and
formal annual reports of a joint stock
.company. Name the two important

financial statements of a company.

4,

Score
flajomMmaI@ agaoem WM

GOEUSRYOS LldH|o BOLOGHNG ?
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_ Score
III. Answer any 3 questions from 11 to 14,
Each carries 3 scores. (3x3=9)

11. 1,000 shares of Rs. 10 each issued at a
premium of Rs. 2 per share are forfeited
on which Rs. 8 (including premium)
have been received. But final call of
Rs. 4 has not been received. These
shares were reissued for Rs. 5 per share.
Pass necessary journal entry in the
books of company:.

B
'l

Score

L 11 qyoad 14 cusnw)gg agemeileyo 3 a.aiay

BRSOl HOMMo ag)R)me:. 3 saped allao.

(3%3=9)

11, @rasauom @00 ayewom 4 aje eidleaomma

o3 8 myalt ((nIdlwo 65) @RS @ldam

10 oyt ayeuafeioyes (2 ot (ldflwo)

1,000 8200160 6816590 @muail

@l@onilay . H:6n8) 66I@ 0D BIanESD

80600 eauimo 5 mlalg) qm@oﬂmma‘gﬂo
0.21Q). HEMmeB:ge)0 ajmdalmesmaymd

LMWES GeRdeM@ ag)Sketd sxniaiayes

 NRAEAAD GRELOSIATTIE:.
12. Write any three limitations of financial | '12. UMY o IEhrB-ES aexmeniego ook
statements. BB gy,
13. Complete the following common size | '13. @flgjowym eamomend 679@@"12“3@’0
income statement, o cquaea@iedd aligenio @wemEd o g
QOBED>. ok
Particulars Absolute Percentage of || [aiceeocemcd mumyden oy | @egalaemaes
Amounts Net Sales =__ (ABBXN
2017-18 | 2018-19(2017-18[2018-19 2017-18| 2018-192017-18 [2018.19)
(Rs.) Rs)| (%) | (%) Rs) | Rs)| (%) (%)
(Less) Cost : (engno) ' ,
of goods afg
| _ [lrwowmess o[ |
Sold 1,50,000 |3,60,000 e 1,50,0003,60000 |
Gross
Profit 1,50,000 (2,40,000 50 40 lmﬂmm\m . |1,50,000[2,40,000 50w 40
(Less) (mgono) | - or) i
Operating : [eicudemn | ~ it =
Expenses 60,000 | 90,000 - 15 || loseiaped | 60,000 90,000 ad 15
Operating . mem : ; A
income 90,000 (1,50,000 - — ] frumy@omo 90,000 |1,50,000 LS
(mgmo)
(Less) Non- 2 :
; lcudem
Operating i
30,000 | 60,000 10 10 e SR
A paagad 30,000 | 60,000 10|, i
Profit 60,000 [ 90,000 20 ~ || fogenso 60,000 | 90,000 0
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14.

13.

16.

Score

Financial analysis can be undertaken by
management of the firm or by parties
outside the firm.

Name any three external stake holders

of Financial analysis.

IV. Answer any two questions from 15 to 17.

Each carries 5 scores. (2x5=10)

Jupiter Company Limited issued 35,000
equity shares of Rs. 10 each at a premium
of Rs. 2 payable as follows :

On Application Rs. 3
On Allotment Rs. 5 (including premium)
Balance on First and Final Call

The issue was fully subscribed. All
the money was duly received. Record

journal entries in the books of the

company.
Match the following :
A B
1) Reserve and a) NonCurrent
Surpluses liabilities
2) Trade Payable b) Fixed
Assets
3) Inventories c¢) Shareholders
fund
4) Long term d) Current
provisions Assets
5) Tangible Assets e) Current
liabilities

14.

IV.

15.

16.

- e . . e e e N .

r_—-—‘u“‘“m
R

Score

s ImETled moemepndgemd EeagEld
OO INETEIT A ORTIEE S ICROBTOBEXDEBE0
UOMLIETSe: QflcBD-LKMO NSIBI00. TUOTLIBTIE:
QllaeLimno MSEEYIM aQexsEiejo QYT 600y
NEMEBIBMIBORUNS Gaid af)FBUB:.
15 oyoad 17cuenwips agemeleye 2 6.aka)
EMBB6) DA Madeyss. S aapod allmo.
(2x5=10)
=iafqd a0 eldpus 10 g geialeoes
35,000 eos)efl e0andetd 2 @t laldleo
X6 SIS BOEHP IR0 o000
0.2 IQRTY.
@GaIE Maxdleam quawe 3 @jal |
00 @RmMABOM VDo 5 Mje ! (Lnjaﬂcmo
ofoqs)
6rLIOSS @YH> @O, BOCLAVOM G:06@d
aexdleanmyo aliamoniio ).
ag)EP &andleglo falomzmmo aldemmowo
oenTibekeTE 622 1Q) AP E-0RE-EUNSY0
@y @oMawo aldlall. HUMles
eTLBEIIEd @OV IMO® cse@erm‘& ng)(ﬁ)(él:ﬁ:@
GOEUEX[SOTYE:.

@2I0yoals] o Ibeeus: |
A B
1) dlokpoe exymxd a) dideakeoel
wmaLe ETLIO)EXBAD
2) awewsad i b) «udfuxg,%e;(fb
(TYTICL6NE [P {uei
3) desiadiday C) &nod .
. 2 IHENBD OSOBEYES
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Score Score

17. moeigyl @aum eldlguflod eosmay
ndagoaumaad aflory’ 31 mod.g), 2018 myo

2019 myo @paumOml.e) QUdHEEDHNSS
BIOBMaYAWIO@E ®oomay (al(PIAUM

17. From the following statement of profit
and‘ loss of Galaxy Co. Ltd., prepare
co'mparative statement of profit and loss
for the year ended March 31, 2018 and

o S

e

March 2019 as per Schedule III of the

2019 : PGB g
Particulars March 31, |March 31, " Qllvosoowwesnud @0da)31, |aodg]3l, 4
2018 2019 2018 2019 .8

Revenue from QU lon e
operations 16,00,000 | 18,00,000 euudemmenagad
Administrative cimsg aigaomo |16,00,000 | 18,00,0000
expenses 8,00,000 | 9,00,000 sosmgleyadd | 8,00,000) 900,000
Other expenses |  1,00,000 2,00,000 o -2feinped 1,00,000| 2,00,000 :‘

Tax rate 20% Syl oo 20%

V. Answer any 1 question from 18 and 19. | V. 18 gy 19 cuencgg agemelego 1 aans) 3
carries 8 scores. (1x8=8) cvacdan gm0 o, 8 ampod.  (1x8=8) 3
18. Show the following items in the Balance 18. @muadny @ogy, 2013 ol eavanyd 111 %
Sheet of Jaqquar Co. Ltd. as on 31* @emydla] 2019 moka] 31eal eowpid i

Ui eldigalied enoeinday adfidlcd e

i A8 WL‘L‘{B’JHJ’”’I_“““‘!\ll'mll....'..."l.""’.””#

AN s b

Companies Act, 2013 RHODUTD TR 06T oeyen _”,
Rs. Rs '

Equity share capital 40,00,000 Equity share capital +40,00,000

10% Debenture 10,00,000 10% Debenture 10,00,000

Securities premium 50,000 Securities premium 50,000

Statemenit of Profit and Statement of Profit and

Loss (Cr.) 1,00,000 Loss (Cr) 1,00,000

Fixed assets 20,00,000|  Fixedassets 20,00,000

Inventories 1,30,000| Inventories 1,30,000

Bank balance 70,000 Bank balance 70,00_(.)__"

Cash in hand 24,000 Cash in hand 24,000
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19. Prepare a Common Size Balance Sheet L2 au;?mad‘o elldigailouyo aoiad En“ﬂm
from the following Balance Sheet of quoomatiah ey, eemend eexmumy eruoekdy
Sooraj Ltd. and Anil Ltd. g QYIOBEYS.
Sooraj Ltd. Anil Ltd.
Particulars eldigs
croyoed anaiad eldigas
1 ‘ Rs. Rs.
| . Equity and Liabilities
a) Equity share capital 12,00,000 25,00,000
b) Reserves and surplus 6,00,000 3,00,000
c) Current liabilities 2,00,000 2,00,000
Total 20,00,000 30,00,000
II. Assets
a) Fixed assets 8,00,000 14,00,000
| b) Current assets 12,00,000 16,00,000
| Total 20,00,000 | 30,00,000

T

T T T T
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